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=2 IE =21 HE 500,000& X 2,1000H2 - J1& 500,000& X 1,52000 2 = 290,000
B2t 22 &3 1,500,0008 X 440082 - J1& 1,500,000& X 300K A = 210,000
960,967 860,967 100,000 | 214-05 (=& AIBI)
OLs85s 22| AR 6250002 X 56044 - J|X 6250002 X 400044 = 100,000
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ZA2 40,174 55,006 A14.832

40,174 55,006 A14832303-02 (£1e015)
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OS2 ™ 40,173,7609 — JI& 47,270,0002 =  A7,096
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3,755,703 3,764,680 A8,977
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OA=Al X Il FYBRAHE 22 29
18,000,0008 x 1Al = 18,000
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ZaD 59,705 86,682 A26,977
59,705 86,682 £26977(303-02 (
OS A2 N 59,704,5109 — J|N 74,492,0008 =  A14.787
OHS MY =S 02 - JI& 12,190,002 =  A12,190






